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[Time: 3 Hours]

NB :
l ; 1. All questions are compulsory. o
2. All questions carry equal marks.
3. Use of simple calculator is allowed. F
4. Draw neat diagrams wherever necessary. -

Q.1a. Explain the following concepts (Any FIVE)
i. Gross Domestic Product
iii. Aggregate Demand Function e Margnz@l Eﬁic;encv
v. IS curve reg \'f-thhﬂhps CurVe»_ 3
vii. Income Velocity

b. state )
i. isa Ieakage-ﬁ'dmclrﬁular fluw Bf agg‘ﬁegate mcoTne amd expe,ndhture.
- : a. Exports __X‘Q.f Sy - P
c. investments
ii.
i Says Law of market ﬁ‘q(teﬁhat_ hy G :
' a. Demand crea‘tgskb own %{mplv RSN ‘-,""_b Suppilu createg:ﬂs Bwn demand

| : c. Demand |sgr@aﬁe§\ﬁan suﬁbly 3 . Subplv«ss g?aater than demand
1 ‘ ©iv. When Income enualscdnsumpﬁom sdvmgswll bq - R -
¥

b Ver‘trcal straight line
. ,Dmknward sloping
- ethbnum
“¢. Goads market
7 d. Labour market
g government revenue by-----------emmem- ;
e b. Increasing taxes
ks d. Increasing prices.

b. Creditors
d. Poor

b. Spiral inflation

d. All the above

Bank Rate and Cash Reserve Ratio.
b. Reduces

d. None of the Above
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2
Q.2. Answer any two of the following: et e Wy id
a. Explain with the help of flowchart, the circular flow of aggregate mtome :md cxpcndimt 2
ina closed economy. G167 F ORI ]
b. Define trade cycles and explain its phases with a help of a dIagram
c. Examine the features and criticisms of Says law of marke

Q.3. Answer any two of the following: QA
a. ‘The Starting point of Keynes' theory of employmtnt_ is

— Explain. N o

b. Define consumption function and explam the subjec}ﬂvgh nd
consumption. : e
c. Given investment to be Rs. 1@_,gr___g.iah |

multiplier. i

Q.4. Answer any two of the following:
a. How do you derive LM curve
b. Write a note on Stagflation. ..~ - o
c. Explain the basic prepositlpﬁs‘bfsupp{v sada ec;: jomics
Q.5. Answer any two of the foliowing\d 20
a. Explain the determil
b. Describe Fisher's equat
¢. Explain with themlﬁ 6? sul
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. All question are compulory.

. Figures to right indicates full marks. 2.
. Working should form part of the answer... :
. Simple calculator is allowed. R

<z
(=2}
N

- W

a) To serve Goverment >
b) To serve the management in performlﬁg 1f funetu}n eﬁécﬁwel
c) To serve the public g 5

a) Current Asset
b) Quick Current L1ab1hty
¢) Fixed Asset

3)

the company. :
a) Commonsize statﬂmeht
b) Comparative statcmmt S e S
c) Trend statement ’ O

A‘;i A0 S Ly
mes pe_;é gérjodihé company pays its average payable amount.
a) Credltors Tumbster Rahq S
- b) DsthrS“T urnovef Ratm

\,«;‘('

(6) If cash ﬂows arc not"umfonﬂ 1he calculatxon of payback period takes a
“a) Common pmﬁt«
b) FavouraBle p051t|on \-\ FETAR

| a) F‘Eﬁure value

" b) Present value

5 .CJ V-Saiyage‘vﬁfliu@ﬂ £
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(8) Total cash outflow is ¥ 85,000 and present value of total cash lnﬂbw {s T %.;ﬁpﬁ I’he <

Net Present value is
a) ¥ 10,000
b) ¥ (-)10,000
c) ¥ 2,000

a) The lower Profitability Index
b) The higher Profitability Index
c) Bothaandb

(10) Operating cycle referes to the time reg}iﬁ‘e@”to congen thé §a S to ,&coﬁvert‘ed»mto
products and the time it takes for those pmducta mbe soldand turﬂed back mta cash

a) Cash _ ; :

b) Assets Q. '
c) Liabilities £

k

1) Inventory is 20 00&‘8&&&\/9 agP sto

a) 72 days
b) 180 days

¢) 5days il ‘ 3¢ :

(12) me1dé§1nﬁ'MEx'()ll »bspt ﬁnalie g.l ﬁo’Sxﬁon of the company.
a) Revenue Statémem o Rl S

b) Cashflow Statemant\ S - \-‘_"‘

c) Ba‘lm N - \v - -\. ~ & & @ S ’l- e ey

: 1)F* m} sfmemc pts’bf\a cmrip ARy prenﬁ;éd‘at the end of the financial year provide

‘mformé.tmn orﬂy‘tgqm owners of the btfmhess
the

w2} Combmed ratios ghqw ie rel -trm.ch'p between two figures which are taken from the

:_Bdlance Shacto‘nly

' Depreq!anénkxs'a cash busmes g expenditure,
4y Wﬂrking“cgghal means Net Current Assets.

~Cap ital Budgeting deeisions a1 [on term investment decisions.

T}eﬁd Analysm shnws‘the trenc in the performance and position of an organisation.

Wheri the compansén 6f financial data is over a number of accounting years relating to
* one company only itis called as inter company analysis.

8) hxﬁl:epal‘mg fhe ‘estimate “of Working Capital, Debtors cannot be valued at cost.

.-9) Permanant kamg @ap:tal remains constant .

.10) Net Profit Ratio is a measure of profitability.

11 Piyback Method is a modern technique of Capital Budgeting.

12] Pubhc Depomts accepted by a company are a part of Shareholders Fund.

Page 20f7
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Q.P. Code 22501 ‘
Q.2 A) From the following details of A Ltd. prepare a Common Size lncome btatement in vertlcal form 08
suitable for analysis. e S :
M/sALtd. s S
k Revenue Statement for the year endmg Slst March 2017 S
Particulars (?3 e
y Net Sales oy N, SR :
Less : Cost of Sales S D ‘?“* Pl B e S
Gross Profit (25% on Sales] 400 000 LA R
Less : Operating Expensé§ & B E 3 ;
Operatlng Profit oP el A -5‘- o '-"'Y?' T
Add : Non Operating Income 10 900
Less : Non Operating Expenses 405000
Net Profit Before Tax . - ~.. 80, 000
Less : Tax(SO%)on Proﬁt A A
Before Tax > .»° .§ ¢ PRt e ? e
o N B I e S S M. Y
” NetProFtAfterTax LTl ot
Q2-B) From the following preparea__CqmparatweiBalan'(;‘e Sheéf ubf B Lf'd. ina vertical form 07
suitable for analysis. P AT N S S SN Tigleg
: e ‘Balance Sheets
Liabilities = - ;.-:3“.1'/.3/_17"‘" 31/3/16 | Assets [ 31/3/17 | 31/3/16
NI R .2 KN Dl (9 SF ) RN S & () (=)
Share Capital RS 43,500 - 120 000 Futedi\sSets 1,05,000 88,500
Bank Loan < % < ogpe0 | 21 000 | Investment 24,000 | 18,000
Current Liabilities < . 76,000 | 59000 Culrpept Assets 1,18,500 [ 1,03,500
| A 7 2,10,000_ o 2,47,500 | 2,10,000

Q2 . You’hférequlr\etitoprépareTrer{d lntome\—Steitement in vertical form suitable for analysis. 15

o v - -
. ~ s T

T RS F LS S M s oL,

~ Nt § _ Halances for the year ending on 315t March of each year
S (%) () (%)
31/3/15 |31/3/16 | 31/3/17
60,000 80,000 1,00,000
£ CK. 6,000 10,000 14,000
. ~{'Purchases .~ 34,000 | 38,000 40,000
: S Wageg 3,000 | 6,000 4,000
"o [Cargiage Inward 4,000 8,000 8,000
-t | Clesing Stock ? ? 12,000
R = l;""-,;‘- foice Expenses 2,000 2,400 3,000
T - Page 3 of 7
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Q.P. Code'22501 T

Administrative EXp

Selling Expenses
Distribution Expenses
Finance Expenses

Interest received

| Loss on sale of Investment Pk 8y
Make provision for Income Tax at the rate of 40% on Net Proﬁt Before Tax of each yEar 0

e el 0

Q.3 M/s C Ltd
Balance Sheet as on 31st Mhrch 2017

‘ Liabilities

Equity Share Capital ‘ ;000 - sDebtorS W

59 Preference Share. : , v & Bills; Recewab]es 12,000
Capital . < 1 00 DOQ Cash & Bank Balance 32,000
Reserves S, 68 000 | Stock: -~ = S>> 38,000
Profit & Loss Accbunt & - 32 000 Otherturrent Assets 68,000
Creditors Y 48,000 “Preliminary Expenses 12,000
5% Debentums i 1 10 000 | Fixed Assets . - 5,47,000

Provision for’ lncome Tax 5,000
(current: year]

Bills Payable -

Bank Overdraft
Proposed Dividend =~ < ;

20 000 Prepald EXpenses

Other detalls‘vf the company for the year 2016 17,
1) Sales m,eo’oou tao% on c‘redlt) :

i B Credlt Purchases ‘?Ms 00 000 XL
¥ Net ProﬁtBefore Tax - #60,000 -'.‘__" SIS

iy -

4] Dwidend on Equxty Shares E‘ 15, 000
P g Calc‘ulate 2 “x\
gt & Liquid Ratio® S R e
2y Cre ditors Turnd‘ver Ratio -
)y “Stock: Workmg Gép\tal Ratio
S &) ‘Debtors Turnover Ratio
- 5).Capital Gearing Ratio '+
"6 Dividend Payout. Ratio
<7) “Be_tu‘m on Capltal Employed

pagedof7
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From the following details calculate:

QP.Code:22501

1) Gross Profit Ratio

2) Office & Administrative Expense Ratio

3) Selling & Distribution Expense Ratio

4) Operating Expense Ratio

5) Operating Ratio

6) Net Profit Before Tax Ratio

7) Stock Turnover Ratio _ g" A

M/sﬁud BN R
Trading and Profit & Loss Account for the year‘ endmg on 3 1"'t March 2017
Dr. o o
Particulars (’\’ff]” Pai‘tlculars | (?_.‘],

To Opening Stock 1,30, 000 By Sales A GS,Q_D;OOO
To Purchases 55 /70;000.| By Closmg Stock ' 2,55,000
To Direct Expenses + 1,70,000. Byl Interest 15,000
To Salaries D[RO N &

To Office Expenses £1,38,000 | : et

To Selling Expenses ; 1 G000 > 0 S

To Distribution Expenses a0 N RIS

To Interest e 48 000“ KRR o

To Provision for Income Tax 1995000 | :

To Net Profit o <8¢ (7 -'--_'"'Z;ZSJ(IBG SRR

* S orad ?‘6_7,.70,3000 £ 2V 67,70,000 |

N > g

.\‘.-

F Ltd. is conmdennfgth : ];mrchase of a machme Two modéls, Model A and Model B are

available eachéostmg T 1,50,000.

Cash Inﬂowﬁ are expECted as fﬁllows

o "J

g Year ModelA(?‘] Modela(ﬂ
A SO A5 R00 415,000
Rl S i 60,000 - 45,000
S S NIRR b i . 75,0001 60,000
SRl % 45000 90,000
SR 60,000 60,000

B 40,000 50,000

i i 30,000 30,000

.
g
S Gy

S '_\ ___.:-"Wiﬁﬁ“_th,e di'sc'éﬁn‘tf-gfai:t,or-of 12% , the Present Value of ¥ 1 is as follows:

R Year RGN o |

2 3 4 5

6

0.893

: :,_- Present Va}ue

0.797

0.712

0.636 | 0.567

0.507

0452 |

1) Payback Perlod

: Imhcate the SEleCEIOI'l of the machine by applying

. 2) Net Present Value at 12% discount factor

3) Proﬁtablhty Index.

Page5of 7
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Q.P. Code¥228015<7 5 ¢ ]
'l
OR !
Q.4 M/s G Ltd. has two different alternatives to buy - Machine Xand" Machlne Y TR ‘
The expected Earnings Before Tax of the two machmes are as follow,s~ A oy 1
Year Machine X(ﬂ SE Machme Y (f) ; J
1 200,000 0 o [P A4,35,000
2 5’0{)&00 :7_"_ N o ﬂrﬁﬂ,OOO -
3 6,00,000 & S |7 o< 580,000° ¢
4 550,000 < N d S L 6,80,000: 2
5 , .:4-,‘50,»090” : 700,000 - &
6 - -4,20,000 - -2 :6,80,000: - ¢
7 5 3,904000 > o 5,00,000 &
7 \\ ™ e

Income Tax rate is to be conSIﬂered at 20% on Eammg Before 4T
Initial Investment of Machme X lS ? 1 45,000 and of Machme Y is T 1,55, 000.

The scrap value of Machmegi and’ Machme Yis: R4 5 000 and ¥ 15,000 respectively.

\\

Q.5 M/s H Ltd. gives the follﬁwing detalls to. pregare the

requirement for the yéar 2016 17

] ..('\") (%)
: 18,00,000
A Puﬁchases ) 8,00,000
T ‘"Wages : S 2,00,000
';-'ﬂverhead& > 6 150,000 | 11,50.000
“Is 6,50,000
S Ufﬁce andAdmmlstratwe Ekpenses 1,80,000
_ ' Sélhng and Dlstributlon Expenses 1,20,000 | 3,00,000
3 JOPONe Dol 3,50,000

Calculate Accountmg Rate ‘of Rétum on the basm of Average lnvestment

§tatement uf Workmg Capital

Proihcted Revenue Statementforthe year 20 16-17

Durmg the year 2916 17 it 13 esnmated that

1) -Raw materials will be'i in store for 30 days.
2] les}ied goods ‘will be in stock after production for 45 days .

T 3) The prote,ssmg perlbd will be 20 days.
gt _\__:'lkl 70% of purchasesand sales will be on credit of 20 days and balance on cash.
o 1S S ‘Wages and Overheads will be paid at the time lag of 10 days.
~ 7 6)<Office.and Admmlstratlve Expenses will be paid at the time lag of 20 days.

o : 7) 'f‘he Expected €ash and Bank Balance will be ¥ 78,000 .
< 8] Operations a\re ‘evenly spread and expenses accrue evenly .
= VAP Debtors are éstimated at selling price.

oy 10) Comp‘any works for 300 days during the year.

73

Page 6 of 7
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Q.s.
T150 per unit.

Cost structure of the product is

Raw Materials
Labour
Overheads

Profit .
Selling PI‘ICB S

Further details are available for the yeﬁr 2016 17 ‘x s e :
1) Raw materials equivalent to 1. month's Supply Is stored m the godowr‘x
v 2) Production process takes 1 mOnth ;
3) Finished goods equal to 3 m0nth‘s pI‘(JdUCthII a:‘e Camed in stock. A
4) Customers get credit of 2 months and Supphers allow credlt of 1% mbnths
5) Time lag in payment of wages and- oﬁerheaﬂs is Vz month :
6) 20% of sales are made on cash baSts and- balance on cr‘edlt 5 :
7) Cash and Bank balance will be mamtamed Flad, 16 000 .
8) Operations are-evenly Spread tthUghout the year. Expenses accrue similarly. .
9) Debtors are estirated at Selling Price’. :
Prepare the staternent of Working Gap:tai Requlrement for the year 2016-17.

Q.6 A) Explain the meamng‘and funtftlons of Management ACCountmg 10

”\b‘\"

B) Explam the ’tech’niques of Capltal Budgetmg 10

Q.6 erte short notés‘[Any Four) S F L 20
| .\-:'.“1) Tools" of analyms of ﬁnanmalstatements :
> <2) RevEnue Statement Ratlm 5
LE ) Operatmg Cycle’ )
" 4)-Limitations of Raho AnalySlS S
" 5). Estimation ﬁfWerkmg Capital requirement
' 6) Scope of Management Accounting

. 'W‘*,’-"‘.‘,‘*;*‘*********#********#*******
3 =
g Z Page 7 of 7
| 2 —:;_‘-:;CL_‘:- ,.1 |
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CO143FR / C014303 / ADVERTISING I

Q. P. Code : 22287
. (3 Hours) [ Total Marks : 100
N.B: 1. All questions are com'pulsnry.
2. Figures to the right indicate full marks.
(A) Select the most appropriate answer [rom the options given below (Any ten) : 10
(1) __ isnotan element of Integrated Marketing Communication.
(a) Internet : (b)  Events & Sponsorship
(¢) Physical Distribution (c) Sales Promotion
(2) _ advertising creates generic demand for products
(a) Primary : (b)  Selective
(¢) Social (d) Trade
(3) ___isthe oldest form of advertising agency s
(a)  Mega agency (b)  Space broker
(¢) Creative boutigue (d)  In-house agency
(4) __ department in an advertising agency co-ordinates the
advertising production process +
(a) Media (b)  Traffic
(¢) Client Service (d)  Accounts
(5) ____is a person in an advertising agency responsible for writing
headlines and slogans
(a) Visualiser (b) Media Executive
(c) Copywriter (d)  Account Executive
(6) _ skillisrequired for people working in the creative department
of an advertising agency.
i (a) Communication (b)  Visualising
Ac) Marketing (d)  Organising
v N _advertising is deceptive
(a) Product (b)  Institutional
(c) Surrogate (d)  Local
(8) Point of Purchase advertising helps in stimulating ~ ___ purchase.
“(a) Impulse  _ (by  Planned
(¢) Budgeted T (d)  Online
(9) “Swacch Bharat’ campaigri is an example of ______ advertising .
(a) . Political (by  Pro-Bono
(c) Institutional (d) Trade
(10) refers Lo incremental value of the brand
(a) Brand Image (b)  Brand Loyalty
(c) Brand Equity (d)  Brand Personality
(11) advertising helped Maggi to regain its market sharc after
the crisis.
(a) Green (by  Advocacy
(¢) Political (dy  Product

TURN OVER
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CO143FR / C014303 / ADVERTISING [

& ‘ QP Code : 22287

(12) Advertising spendson _______ advertising is growing at a faster rate

as compared to others.
(a) Print (b) Digital
(c) Cinema (d)  Radio

(b) State whether the following statgmcnts arc true or false (Any ten) :— 10

(1
(2)
(3)
(4)
(5)
(6)
(7

(8)

(9)

IMC is same as promotion mix .

Sign Boards are the oldest form of Advertising.

Radio is no longer a useful medium for advertising.

Client Turnover is a negative sign of growth foran advertising agency .
Commission is a traditional method of agency compensation.

Account Executives handle finances of an advertising agency

Jio has used an effective Integrated Marketing Strategy to fight
competition : |

Advertisements having direct comparison with a competitors products are
unethical. 1

Advertising always has a positive impact on the society.

(10) Decoding uses signs & symbols to comumunicate the advertising message »

(11

) The Jan Dhan Yojana of the prime minister has used Doordarshan
channel for effective promotion in regional areas .

(12) Social media has made advertising execution interactive.

2. Answer any two of the following :— 15
(a) -Explain the meaning of Integrated Marketing Communication (IMC). What is

" the role of advertising within IMC ?

(b) Define advertising. Who are the active participants of advertising ?

(c) Explain the classification of advertising on the basis of functions.

3. Answer any two of the following :— 15
(a) What are the factors considered while sclecting an advertising agency ?
(b) How can an advertising agency maintain a healthy relationship with its clients ?
(c) What are the unique skills required for a career in advertising 7

4. Answer any two of the following :— 15
(a) How does advertising aftect market competition ?
(b) Discuss the common ethical issues in advertising.
{¢) Describe how ASCI self-regulates advertising in India.

5.  Answer any two of the following :— 15

(a) With the help of a diagram explain the advertising communication process.

(b) Explain the features of corporate image advertising.

(c) Describe different execution styles of advertisements.
6. Write short notes on any four of the following :\— 20

(a) Any fivebenefits of advertising

(b) Creative Pitch

(¢) Pro bono advertising

(d) AIDA

(e) Effect of advertising on cultural values

(f) Brand equity.
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“Suggest some measures for protection. (15)
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C0143 /M0296 FOUNDATION COURSE Il

Scheduled tribes
2. Political rights
3. Recovery after Disaster

4. Avalanches
6. Hippocratic oath

5. Scientific temper
7. Non-Verbal Co

1.

(2) Figures to the right indicate full marks.
1. A. Explain the following concepts: (any five)

N. B. (1) All questions are compulsory

(15)

nt in the Age of Reason and Enlightenment,

o

AN
ot
N

OR
tween science and technology.

y )
o
=

a
&

&

B

,."‘{"‘?
to effective communication. How can one overcome

(h

";‘:\C\'
P

P
0 ]

(15)

g
:
g
:
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B. Bxphin Statement of Purpose (Sop).
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C0143 /C0830 BUSINESS LAW 1

Q.P. Code 20745

i

[Time: Three Hours]

‘-;‘.'

it * [‘Marks.lool

Please check whether you have got the right questiah paper
N.B: 1. All questions are compulsory subject to mtemal chmce

2. All questions carry equal marks. A

3. Figures to the right indicate maxlmum marks

Q.1 Answer any Two of the following:- FEES PN AN A
-a) Explain the essentials of a valid contract. . ST A e eR SCIEIRRIS |
b) Discuss the meaning of ‘Offer’ in a contract and the legal mles regardmg foen e 10
¢) Who is competent to contract? Explain the: eﬂ"ects of; a Mmc)r s agreement -t 3 10
d) Discuss the essentials of consnderatxon ina contract SE LTS 10
1 Q2 Answer any Two of the following:- -~ "«

a) Explain the meaning of ‘Free Consent ina cqnti*act.l)lstmgulsh between agreements 10
entered into by ‘Fraud’ and: hgreemems entered into by Mlsrgpresentatlon

b) What is a void agreement” Ex}ilam the agreements declared vmd under the Indian 10
Contract Act. : o

c) Discuss the ‘Quasi Contracts ng:mundar thi-‘: lndlan Gontract Acta & 10

d) Explain the methods of. dlstharge ofa cqntract by operatxon of law. 10
Q3 Answer any Two of b fuliowmg & S L

a) Distinguish between thE;Cnntract of lndﬁmmty and the Contract of Guarantee. 10

b) Explain the Blghts of a Baﬂef ina contract of Baﬂment. 10

¢) Distinguish between contracts ‘of Pledge and Lien: 10

d) Dlscuss the dutms Df an Agentkundefr the Indlan Contract Act. 10
Q.4 Answer any Two of the foﬂomng ey : s

a) Explam the essentxais ofa- C.“ontracr Gf Sale and state the classification of goods. 10

b) Explain the ‘meaning of Condlﬁons and the Implied Conditions’ under the Sale of 10

Goods Act. .
 SCF Dlscuss the rules relatmg totransfers of property in the case of sale of specific goods
" and'the salé of unascertained gbods. 4 10
d) EXplam the congept of * Unpald Seller’ and the unpaid seller’s right of, ‘Stoppage of
2 goods in TranSIt and nght of Resale 10

Qs Answer any- TWo of the followmg e .oy
i - a) Explain‘the essentials of a Negotiable Instrument. 10
._ -~ b) Distinguish betweén a Cheque and a Bill of exchange. 10
] €} Explain. the characterlstlcs of a Cheque. Discuss the types of crossing of cheques. 10

d) Explain the- meanmg of Payment in Due Course, Noting and Protest under the 10

- Negotiable Instruments Act.

% A A o T IIImnm
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CO0143FR / C014302 COMMERCE 111

N.B.: 1.All questions are compulsory. & EHK
2. Figures to the right indicate maximum mark_sﬁ.s-; oS

Q1. Objectlve Questions:

3 B
Y K‘,_ ~ .\ 3

A) Choose the correct answer from the options giveri bgfuw : n'_ it. "n ' ’(10‘--Marks)
1. Henri Fayol stated Ot b oo s
(Ten, Twelve, Fourteen) & R S
2. Ethos is originallya _____ wordmatﬂgnlﬁgscharaaer
(Roman, Greek Indian) ) TS

3.

4, s, a lbng term BCtIOn plahn for agahjevmg the gOaIs

5. Planning needﬁdb‘
(comphcated ﬂeitblé *hgld} ;
6. Heunstlcfeéhmqhﬂsa téehmque

(rule oithumb h}md tmaland errcr)
7. Formaf ofgﬂnisatwn‘sﬁmctme JS

in nature.

““the burden on superior,

-'-f“-" ,' 5 (ma"aia‘ns ,\réduqes mCreases)
9 fée-ce_hﬁahiatiah is necessaryfdr eﬁ"ectlve management of a
S (smal& ‘medium , large)

WA Sés.: e{WGﬁ(anaLys[s by identifying critical and non-critical activities.
(PERT CPM Budgetary Cahtrol)

Y4

- S '7\ ¥

B ot = % o g " i 5 g
e S0 N_mg:aand dﬁi@hé&are barriers to effective communication.
:: "V ﬁhysvpa' cqltunal pSychoioglcaU

F. : d5a funttion of leadership.

LR -Canfﬁence Vision)

A ‘

P
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CO143FR ( C014302 COMMERCE IlI

2. Division of work leads to specialization.
3. Controlling is a measuring and correcting de y A
4, Only external environmental factors are analymﬂ' inithe planmng rocess

AV AT A

ivedin ¢a

of the employees. X
6. Use of technology leads to quu:k_de

Q.5 Answer any two of the following: £ _5";{'*5‘ (lSMtb)
(a) What is Motivation? State its importance.

(b) Explain the different Styles of Leadership.

Q6. Answer any four Short Notes: L (zoums:
i) Indian Ethos in Management : ‘

iii) Virtual Organisation w) DEpartmentatlonn & SRR

v) Management Audit wlFmanualfactOrslnﬁuencmgMotva'vﬂ"

-~ *7; 3‘..“-" - ""‘F - __....—-—-—-A-——f '-:.-—
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[Time: Three Hours]

All questions are compulsory.
Q.1 and Q.6 carry 20 marks each. g
Q2,Q3, Q4andQ5cany15marksh@ch
Use of simple calculator is a]lowed :

# P

Alc side.
Debit balance on Realisation A/c te' ;'
On Amalgamation ‘

Partnership firm has .'?‘t‘qhgbﬂlf.jé
If asset is depreciated Realisatfga a&f
Trade Mark is a wSEtS\
Return Inward is deducted ﬁ‘om AN {
Payment made in a,@Vancp gg sﬁmon _
Goodwill wnttex;(bff in the b(}éksﬁﬁnewfmn is debrtﬁ@ to
. The balance due;to retiting partne
settlement. 4y

—_—
S R R S

.- Account

1§ hansi‘enéd tQ h;s account until final

p—t
<

'-_
'.“

>
=
-
g |
%
i 2
’;5-1-
;g
,,%"
%
E':
'g
.
3
3
'E
2
&
=]
(4]

(10)

Column ‘B’

<5 1a)12%p .a
“.={.b) Distributed among the partners
1 c) Closing stock
~ 1) Liability
&P ¢) created after payment of external liability
V& f) 6% p.a

3) E‘iéeas capi:tai»mélﬁ‘od o
1% 5@@3@@ e?ﬁnﬁs*‘

|5 Purchase Consideration
+|.6) Loose tools.. = SR

72’ meerentxa[ l,labmt)r" > o g) Income tax dues

81~Intef&¢qn Partrier’ s’Lgau h) Not a fixed asset

1.9).Reserve for contingent Liabilities 1) Amount payable by purchasing company
1.10) Income received inadvance j) Purchase Consideration

I 11Y Unsold: stac "k‘*at:the end of the year k) Highest Relative Capital method.

: -12)General Reserve - 1) Separate current A/c is not opened

m)Preferential Liability

sE64A6C777B7B88R 2 BDESF7637E94
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Particulars ?;::;unt)
Drawings:
Ajay 12,000
Vijay 12,000

| Sanjay 12,000
Purchases 1,56,000
Return inward 2,400
Stock 24,000
Salary
Office Expenses
Bad Debts -
Carriage Inward
Carriage Outward
Debtors
Bills Receivables

On xst October 201§,A a«y xmmm t.ﬁe ‘ trqwm %usfmqﬁts

i

W@W}br&ught mtqﬁm hook&{)facconnts
E&;&Q’bﬂﬂ w@?sﬁphxc}g@@d on \3.0"“'h ‘ 7201 6, but the i mvmce was not

) t.:_-%

5 “_"‘;Depfecmte méiﬁhm(‘é’ 1 Q’% FM13ﬁsby .5% and Furniture by 5% p.a.

sEcsAcCT77B5ARER0) BbDE6F7637E94




Q.2

by

Krishna was carrying on business as a wholesale business man He clqses"}ns ‘on ;of _ g

accounts by 31* March every year. Arjun was his Manager on:a @Qntmy sélasiyl-o "Rs.2;000.
till 30® September 2016 and from 1 October 2016, it was agread ﬂaat he: wﬂl be ﬂdm;tteii _as 2

March 201 7

Details

Krishna’s Drawing and capital
Purchase and Sales
Debtors and Creditors
Furniture and Fittings
Motor car

| Stock (01-04-2016)
Bank
Cash
Salanes

Professional Charges

Rent ) o A e o )
Prepaid Rent R AP ¥ SO0 D e
Bills Receivable apﬂ*‘&ﬁs‘ﬁgﬁ@e\ SRS F 3990\‘

2 AV B ! 1&1 ed&t ‘?‘3;1'81,000
The Followmgaadltfnnﬂ{h@mi\ahonis aVaﬁablc A
/i3 Puréhas\es were:Rs T*,Q0,00U upto 30“‘ Septembel: 201 6
2 s,%de% dw‘mg tﬁe ﬁrst six months’ of the year were- Rs.1,10,000.
*~§tqck on- 3ﬁm'sep;ember 2016, and 31“ Mach 2017 was Rs.50,000 and Rs.20,000

seanccT77R B8 2d B DESF7637E94
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3
-Hr-'

Q3)

11:2.

On 30th June, 2017. They decided to dissolve their firm whén«,thefr*Ba“i,anc_ shee w& 5

under — SF LT ‘“ &5

LIABILITIES | Rs. Assiﬁi‘?s" T RS LS S T
Capital - P 2,40,000 | Goodwill & ;T - rzo 000 \ ' 3

Q 1,60,000 Bundmg : «)24'0000._,_‘

R 3,00,000 | Plant " 268,000
General Reserve 80, 000 Steck 1"23 000'. i

\ 2 St
Loan From Q 40,on Debtors f80 000 RN
Sundry Creditors | 1;60;000 Bllls Recewablq: 7 ,_-’f'3~7 OOQ A
a0

x i;.«' Reallsatmp
SIS 4,106,000 2,000
£89, o «.;—;?3;*40‘,009' £ ._10 000
SRRy n%eptember - 3,50,0007. 5,000
L7031 0ctobet < -1,62,000-. 3,000
You are requged to pl'e}iawe stafemeht to. show the pxcce“meal distribution of cash available
under nghéastket@ive Chpl&g] Mcthg‘ﬂ 8
(15)

The ﬁf@i@‘f?y‘ Ra Mldas l'ptesenl you w1th the followmg Balance Sheet drawn as on 31%
March*zn ST

I

' Asset Rs.

Cash in hand 6,000

Sundry Debtor 68,000

Stock in Trade 78,000

Machinery 1,02,000

Current Accounts :

R 8,000

M 6,000 14,000
2,68,000 2,68,000

sE64A6C7778 8882 BDE6F7637E94
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Q P: ~;,ebé‘efzam

Partners shared profits and losses in the ratio of 4:3:3. Due to dlfferences,ﬁmung fhbpa@mm‘i 5_\ e- So e

..\

it was decided to wind up the firm, realize the assets and distribute cash“aﬁmng“ihe par‘i‘ne?sat” SEF _ :
the end of each month. -_‘_ oA S ,{f ¥

i.  April 2017: Rs. 30,000 from Debtors and Rs. 40,000 by’sale of stoelcagxpgﬁsés}:ﬁn
Realisation Rs. 1,000. ' '
i
48,000, <

iii.  June 2017: Part of Machmery was sold for Rs. 36,40"0‘
1,200.

Method.

2 o
Q 4). The Balance Sheet of M/s. l\@ &fr§h and
follow:

LIABILITIES

Capital :
M
N
R
S
Credltors
Loan
Outstandmg 0¥

l Oll!ﬁ shafbipﬁéﬁ%&ﬂﬂ&vk’“és eélually between themselves as they were doing
orto a afgamatlﬁn and tﬁ:_"'agx;eed to following revaluation of assets and liabilities:

v‘l

M&N R&S
45,000 45,000
30,000 32,000
10,000 12,000
21,000 30,000
29,000 34,000
52,000 34,000

- 38,000
7,200 11,400

8E64A6C7778 A% fDE6F7637E94
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1. Goodwill of M & N and R & S were values at Rs. 35,000 and Rs 3
and it should be written off in the new firm. R

2. That the reconstructed capitals of the partners would be 'R?s T\'-'
difference, if any should be transferred to Current Account o

You are required to show:-

i) The accounts in the books of M/s. M &N
ii) The opening balance sheet of the new ﬁl’ﬂl} ;

e @

OR

Q4

March, 2017.

nglﬂwani Broth
;ﬁﬁﬂ@'ﬁ.@?ﬁhset
Liabilities R R0l O A _Rs.
Sundry Creditors < ’-T:fise_foo(l%’;@am;’fuﬁaﬂd” o el 12,000
Loan from Vgﬁw Ea;tk 710,000 $tqck?m'fmdé & el 58,000
Capital : - 0T [PRumniture antmﬁmres 20,000
Anil '?‘:“..“1:,?90;6‘00 ( mise 90,000
Sunil IS i 30,000
2,10,000
fM_.(s “MotwdmﬂBrbtherg‘ e
G ﬁnlanc”e Sheet
) - F 52 “'Aisets Rs.
: | ;~‘Gé§.h_m,hand 16,000
~ - |'Stock in Trade 44,000
| Sundry Debtors 50,000
& 10,0007 Furniture and Fittings 10,000
&S 70 4'5% National Savings 40,000
s A g Centificate
1,60,000

léssé\s«m ‘pl‘OpOi'thn o their capitals. They decided to amalgamate their

They shai'ed proﬁts.‘
Aprﬂ 3017, as per the following terms and conditions:

bumness wnth éffect ﬁbﬁl 1"

T 1 Thatthe narge of].he m\'viﬁnn <hall be VANEE TRADING CORPORATION.

B That the Vgaya Bank‘Loan be repaid.
P8 28T 3, That $he 30 Namnzﬂ Saving Certificate no
& O -\ : msmbuwdbmegn partners equally at Book Value.
S That G‘oodWﬂi of M/s Lalwani Bros. and M/s. Motwani
Rs 25 000 rcspectwely

5 That ofﬁge premises are valued at Rs. 99, 000.
é‘ \«Tkiat stock in trade of M/s Lalwani Bros. be reduced by 9,000 and that of

Mfs Motwam Bros. increased by Rs. 5,000

crcanacr et B88 00 BDEsF7637E94

{ to be taken over by new firm to be

Bros fixed at Rs. 21,000 and



7. Thata reserve for Bad debts be created at th
8. That the tota] capital of the

capital of each partner will
Anil 30%, Ajay 30%, Suni] 20%, Vijay 20%
The differances if any, should be

ks of M/s Lalwan Bros ari
VANEE TRADING CORPORATION as on 1* April, 201

£

Liabilities
Neena A/c
Veena A/c
General Reserve
Loan- Neena
Bank Overdraft
Creditors

o8
’

o \gé;@tﬂhjé“'running business of
> Al + .f:“‘:'

i T

N Ay

P VN AN
,,

On the same date V&‘@B& »BYT :‘
Veena & Co, on the following

e =i '—A a0 S g \’.\ > ";/‘\' \ .
l. Goodwillof t fim;;is ' q@ﬁy&gﬁg@é:yfaverage profits of past Five
[ yé"‘nryf_yé;a;.r':_\;d(}eneral Reserves. The profit

afler above transférwere R 00, Rs:14,000, Rs:. 13,000, Rs, 14200 ang Rs. 15,400
2 WQMWJSQV@%H%WRS&OUO\@B prbgerty is undervalued by Rs.8 000 other

and liabilities‘extept Loan'of Neena are taken over at book valye,
Company decidedalor

\q-’\‘:?ﬂ ',?— 2 “ ‘_,\lAFr‘ '-’,‘"'A':‘:. el :
‘ l‘gfex;p‘gébfharcs\tmﬂmtpartnmx ho has excess capital after all necessary
st o h extnt ofsuh gt
@w%ms;_@gﬁé;balaqu\mouht payable.

value of shares'is Rs. 10,

\’*

mt% books of both parties to the above agreement.

OR

8564A6C777B?ﬁ?ﬁ%ﬂﬁnﬁﬁmsamw
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Qs.

Ajit and Sujit were partners sharing profits and losses in the ratio: of 2 1 'T)lmem Bala‘nuesheet
as on 31-03-2017 showed the following positions. & &V

Liabilities Amount | Assets Aiiiqi‘uﬁ \'" SRR
Capital Accounts: Freehold Premises - 5 62.000°]< &
Ajit 50,000 | Plant and Machinery *{ ™ 18,0007+ -
Sujit 40,000 | Stock & ’\33 000 b
Current Accounts: Book Debt :
Ajit 1 26,000 | Bank PNB

Sujit 18,000 NEFe S

Ajit’s Loan Account 40,000 & A Ay e

Accounts Payable 24,000 VIS A

The partner’s wishing to dissolve the ﬁrm Ac,cqptqﬂ the oﬁer of Ma;estla Ltd .to aqquu'e the
stock and fixed assets at an mclusxvq‘fmbe Qf Rs b 4(5 000 4

e

, \

The Purchase consideration was tﬂ be’saﬂsﬁéet by-«

1. A cash payment ofw‘hg‘» R N LSO
2. By allotment to the pénners 6’ QUO, 5% preféréﬁce ,shares ef Rﬁtﬁ) ea@h valued at Rs.8
per share.

3. 57,000 ormnarxxﬁlxa}ns of Rst 1 each A YOI
The book debts reahz’ed:RB 38 000 and Accounts payable were settlcdlﬁy Rs.22,000.

The partners 33_:%8‘&1 that the fol]osmng should be the basis of distribution on
dlSSO]uH()’i‘ efship.s -
(a) Mﬂf\t@%%@mfﬁm@ @mes in Setfleme‘nt of his loan, the remaining
prefe; ng allotted equally fo them. 8 ==
(b). Tbﬁoﬁjﬂm’y s‘h!x;g% 1 be. allotted m‘ﬁm mtro of profit sharing,
‘_..‘-(c) T‘eﬂ%ﬁl&h@e to,bf; phidm cas

L

Ky éafmexs eapltal and Ciirrent Aécounts separately
mmsnc@wmmt FX
e

i a) Whﬂt )s ﬁl_e ‘*_c(:cmhtmg Procedure for accounting of Amalgamation of Firm in

8 *me«h’ ! l{s'ofAn’falgamatmg firms? (10)

ot (10)
'\: 2 OR

‘Qﬁ ;Sh@:'tﬁoter@mvfam;; Four) (20)

¥ el \%}*} Net'Z Asse"t Method of purchase b) Proportionate capital Method
e I ?GQDSME ation.

2

d) Interest on Partners Loan.
f) Accounting Procedure in the books of
_purchasing company.

************************
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